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- Database Table was created with the name of TPCBadChan

- Database columns are :
-badstick
-badpad
-reason, and usual things(runnummin etc..)

- Each stick covers two half-padrows, the numbers 0:127 are
defined in this way:

-pad columns less than 60 are even

-pad columns greater or equal to 60 are even

- 'reason’ 1 for hot pads and ‘reason’' 0 for dead pads

- If entire stick is hot or dead, -1 was put for the 'badpad’
number

- If entire stick is not hot or dead, ‘badpad’' can be from 0 to 119
according to the pad numbering scheme



HOW TABLE LOOKS LIKE

Table "development.tpcbadchan™

Column | Type | Modifiers
................... e e e e e e e e e e e e e e e e e e e
badstick | integer][] |
badpad | integerf] |
reason | integer(] |
runnummin | integer |
runnummax | integer |
subrunmin | integer |
subrunmax | integer |

loadtimegmt | timestamp without time zone |

Columns badstick, badpad, and reason are vector arrays



How database looks like for run 15634 subrun O

badstick
badpad
| reason

| runnummin | runnummax |
subrunmin | subrunmax | loadtimegmt

—+ + + + +

{3,2,3,13,36,0,2,2,2,2,2,2,2,2,2,2,2,2,2,2.225555,5,5,55,55,5,5,5,5,5,9,9,9,9,9,8,89,11,11,16,16,24,24,24,24 24 27
27,29,34,34,34,36,38,38,38,38,38,46,46,56,56,56,56,56,56,56,56,56,56,56,56,56,56,56,58,64,64,64,71,88,88,88,88,8
8,88,88,88,88,88,88,88,88,88,88,89,97,108,108,116,116,116,116,116,116,116,116,116,116,116,116,116,116,116,117,
122,122,122,122,122,122,122,122,122,122,122,122,6,7,18,19,23,31,39,59,73,75,76,80,83,91,99,101,110,111,115,119
120,125} |
{60,68,0,21,59,57,114,113,112,111,110,107,106,105,74,73,72,71,70,69,63,60,30,31,32,33,34,35,36,37,38,39,40,41,42
43,44.65,66,67,78,93,107,87,8,66,67,54,53,103,99,98,97,96,49,50,87,59,57,56,56,6,3,2,1,0,110,109,89,88,87,86,85,8
4,83,82,81,80,79,78,77,76,75,43,10,9,8,19,44,43,42,41,40,39,38,37,36,35,34,33,32,31,30,76,68,89,86,44,43,42,41 40,
39,38,37,36,35,34,33,32,31,30,35,115,114,112,106,103,102,101,94,93,79,62,61,-1,-1,-1,-1,-1,-1,-1,-1,-1,-1,-1,-1,-1,-1 -
1,-1,-1,-1,-1,-1,-1,-1} |
{1,1,1,1,1,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0
,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0
,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0} | 15634 | 15634 | 0] 0 | 2007-12-11
20:02:41



- Searching bad pads will be done subrun by subrun

- Next step is to put bad pads into database for all subruns

- Dead pads were defined if the occupancy of the pads were
below 0.001

- Hot pads were defined if the occupancy of the pads were above
40 (each pad has 160 time buckets)



